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1.Which business factor least promotes a trend towards SOA? 

A.The forces of change 

B.Enterprise reconstruction 

C.Industry deconstruction 

D.Organizational stability 

Correct:D  
2.Which two are barriers to the adoption of SOA? 

A.An existing component infrastructure 

B.A deliberate, well-conceived path from the "as-is" to the "to-be" goal 

C.A failure to collaborate across product units or divisions 

D.Time spent in face-to-face customer meetings 

E.The corporate tendency to just make it work 

Correct:C E  
3.Which SOA entry point most accurately matches the following sentence? "Start by modeling an 
underperforming process, remove bottlenecks, then simulate and deploy the optimized process." 

A.People 

B.Process 

C.Connectivity 

D.Information 

E.Reuse 

Correct:B  
4.Which SOA implementation change needs proper versioning of services? 

A.New operations to existing service 

B.Relocation of UDDI registries 

C.Changes to service implementation 

D.Changes to transport implementation 

Correct:A  
5.What is the most important business and technical benefit to an SOA? 

A.Standardized integration of diverse and complex business systems 

B.Ability to respond quickly to change and gain a competitive advantage 

C.Justify the cost of investment in IT resources 

D.True real-time performance of critical business applications 

E.Loyal customers and improved end-user experience 

Correct:B    


